

				Page 1 of 8			
Contract ID: 194	Contract ID: 19484			HUNTERDON, I SOMERSET, W		LESEX, MONI	MOUTH, OCEAN,
Letting Date: Fel	bruary 09, 2021		District(s):	C4			
Call Order: 484	4		Project(s):	STBGP-FLEX-D	00S(367)		
Contract Time: 12/	31/21 COMPLETION DA	λΤΕ	Min:	Max:			
Contract Description	on: Long-Life Pavemer	t Markings Conti	ract, Central - 20	019			
Line No / Item ID Item Description			(2) DENVILLE L IN				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001 151006M	1.000	40,000.00000	40,000.00	40,000.00000	40,000.00		
PERFORMANCE BOND A	AND DOLL						
0004 159003M	50.000	0.01000	0.50	1.00000	50.00		
BREAKAWAY BARRICAD	DE U						
0005 159006M	50.000	0.01000	0.50	1.00000	50.00		
DRUM	U						
0006 159009M	1,500.000	20.00000	30,000.00	15.00000	22,500.00		
TRAFFIC CONE	U						
0007 159012M	800.000	0.01000	8.00	8.00000	6,400.00		
CONSTRUCTION SIGNS	SF						



Tabulation of Bids						ds			Page 2 of 8
Con	tract ID: 1948	4				HUNTERDON, I SOMERSET, W	,	DLESEX, MON	MOUTH, OCEAN,
Letti	ng Date: Febru	uary 09,	2021		District(s):	C4			
Ca	Il Order: 484				Project(s):	STBGP-FLEX-D	00S(367)		
Contra	ct Time: 12/31	/21 COM	APLETION DA	ATE	Min:	Max:			
Contra	ct Description	: Long-	Life Pavemer	nt Markings Cont	ract, Central - 20	019			
Line No / Item Des				(1) TRAFFIC	LINES, INC.	(2) DENVILLE L IN			
Alt Set /	Alt Member	Quant	ity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	R	OADWAY		Cat Al	t Set:	Cat A	It Member:	
0008	159027M		8.000	0.01000	0.08	2,500.00000	20,000.00		
FLASHING	ARROW BOARD	D, 4' X 8'	U						
0009	159030M		6.000	1,000.00000	6,000.00	3,000.00000	18,000.00		
PORTABLE SIGN	E VARIABLE MES	SSAGE	U						
0010	159108M		8.000	20,000.00000	160,000.00	20,000.00000	160,000.00		
	CONTROL TRUC		U						
0011	159141M		1,500.000	0.01000	15.00	1.00000	1,500.00		
TRAFFIC D	DIRECTOR, FLAC	GER	HOUR						
0012	MMR080M	4,0	00,000.000	0.05000	200,000.00	0.15000	600,000.00		
CLEARING	SITE		LF						



		Т	abulation of B	ids			Page 3 of 8
Contract ID: 19484	ŀ		Counties:	HUNTERDON, M SOMERSET, W		LESEX, MON	MOUTH, OCEAN,
Letting Date: Febru	ary 09, 2021		District(s):	C4			
Call Order: 484			Project(s):	STBGP-FLEX-D	00S(367)		
Contract Time: 12/31/	21 COMPLETION DA	ΑΤΕ	Min:	Max:			
Contract Description:	Long-Life Pavemen	t Markings Conti	act, Central - 2	019			
Line No / Item ID Item Description	/ Item ID (1) TRAFFIC LINES, INC. (2) DENVILLE LINE PA						
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0013 610003M	7,100,000.000	0.40000	2,840,000.00	0.41000	2,911,000.00		
TRAFFIC STRIPES, 4"	LF						
0014 610006M	1,325,000.000	0.85000	1,126,250.00	0.61000	808,250.00		
TRAFFIC STRIPES, 6"	LF						
0015 610007M	355,000.000	0.90000	319,500.00	1.45000	514,750.00		
TRAFFIC STRIPES, 8"	LF						
0016 610060M	65,550.000	20.00000	1,311,000.00	10.00000	655,500.00		
TRAFFIC MARKINGS SYMB	OLS SF						
0017 610013M	50,000.000	1.00000	50,000.00	2.50000	125,000.00		
TRAFFIC MARKING LINES,	4" LF						
0018 610014M	114,000.000	3.75000	427,500.00	5.00000	570,000.00		
TRAFFIC MARKING LINES,	8" LF						



		т	abulation of B	ids			Page 4 of 8
Contract ID: 19484			Counties:	HUNTERDON, M SOMERSET, W	,	LESEX, MONI	MOUTH, OCEAN,
Letting Date: February 09,	2021		District(s):	C4			
Call Order: 484			Project(s):	STBGP-FLEX-D	00S(367)		
Contract Time: 12/31/21 COI	MPLETION DA	TE	Min:	Max:			
Contract Description: Long	-Life Pavemen	t Markings Contr	act, Central - 2	019			
Line No / Item ID Item Description		(1) TRAFFIC	LINES, INC.	(2) DENVILLE L IN(
Alt Set / Alt Member Quan	tity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0019 610017M	400,000.000	4.00000	1,600,000.00	10.00000	4,000,000.00		
TRAFFIC MARKING LINES, 24"	LF						
0020 610012M	1,000.000	25.00000	25,000.00	50.00000	50,000.00		
RPM, MONO-DIRECTIONAL, WHITE LENS	U						
0021 610018M	1,000.000	25.00000	25,000.00	50.00000	50,000.00		
RPM, MONO-DIRECTIONAL, AMBER LENS	U						
0022 610021M	1,000.000	25.00000	25,000.00	50.00000	50,000.00		
RPM, BI-DIRECTIONAL, AMBER LENS	U						
0023 610024M	1,000.000	5.00000	5,000.00	5.00000	5,000.00		
REMOVAL OF RPM	U						



			Т	abulation of B	ids			Page 5 of 8
Contract ID: 19484	4			Counties:	HUNTERDON, I SOMERSET, W	,	LESEX, MON	MOUTH, OCEAN,
Letting Date: Febru	ary 09, 2021			District(s):	C4			
Call Order: 484				Project(s):	STBGP-FLEX-D	000S(367)		
Contract Time: 12/31	/21 COMPLET		ATE	Min:	Max:			
Contract Description:	Long-Life Pa	avemen	nt Markings Contr	act, Central - 2	019			
Line No / Item ID Item Description			(1) TRAFFIC	LINES, INC.	(2) DENVILLE L IN			
Alt Set / Alt Member	Quantity and	l Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADV	VAY		Cat Al	t Set:	Cat A	It Member:	
0024 610027M	50,000	.000	12.00000	600,000.00	17.00000	850,000.00		
REMOVAL AND REPLACEM	IENT OF	U						
0025 610036M	650,000	.000	0.25000	162,500.00	0.25000	162,500.00		
REMOVAL OF TRAFFIC STI	RIPES	LF						
0026 610039M	65,550	.000	1.80000	117,990.00	2.00000	131,100.00		
REMOVAL OF TRAFFIC MA	RKINGS	SF						
0027 MMR065M	5,000	.000	1.00000	5,000.00	2.00000	10,000.00		
REMOVAL OF LONG LIFE PATTERNED CONTRAST PAVEMENT MARKINGS TA	PE	LF						
0028 MMR067M	758,000	.000	0.40000	303,200.00	0.75000	568,500.00		
REMOVAL OF TRAFFIC MARKINGS, LINES		LF						



		ids			Page 6 of 8		
Contract ID: 19	9484		Counties:	HUNTERDON, M SOMERSET, W	,	LESEX, MON	MOUTH, OCEAN,
Letting Date: Fo	ebruary 09, 2021		District(s):	C4			
Call Order: 48	34		Project(s):	STBGP-FLEX-D	00S(367)		
Contract Time: 12	2/31/21 COMPLETION DA	ATE	Min:	Max:			
Contract Descript	ion: Long-Life Pavemer	nt Markings Cont	tract, Central - 20	019			
Line No / Item ID Item Description		(1) TRAFFIC	LINES, INC.	C. (2) DENVILLE LINE PAINTI INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0029 MMR083M	(1)	70,000.00000	70,000.00	70,000.00000	70,000.00		
MOBILE RETROREFLE SERVICE	CTOMETER LS						
Section Totals:			\$9,448,964.08	5	\$12,400,100.00		

2/9/2021



			Та	bulation of B	ids			Page 7 of 8
Contract ID:	19484			Counties:	HUNTERDON, M SOMERSET, W		LESEX, MON	MOUTH, OCEAN,
Letting Date:	February	y 09, 2021		District(s):	C4			
Call Order:	484			Project(s):	STBGP-FLEX-D	00S(367)		
Contract Time:	12/31/21	COMPLETION DA	TE	Min:	Max:			
Contract Descr	iption:	Long-Life Pavemen	t Markings Contra	act, Central - 2	019			
Line No / Item ID Item Description			(1) TRAFFIC L	INES, INC.	(2) DENVILLE LINE PAINTI INC.			
Alt Set / Alt Memb	er (Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002		CONSTRUCTIO	ON ENGINEERIN	G Cat Al	t Set:	Cat A	It Member:	
0002 155006M		1.000	10,000.00000	10,000.00	25,000.00000	25,000.00		
FIELD OFFICE TYPE	B SET UF	> U						
0003 155024M		12.000	2,000.00000	24,000.00	4,000.00000	48,000.00		
FIELD OFFICE TYPE MAINTENANCE	В	МО						
Section Totals:				\$34,000.00		\$73,000.00		



			т	abulation of B	ids		Page 8 of 8		
Contract ID: 19484	4			Counties:	HUNTERDON, M SOMERSET, W		LESEX, MON	MOUTH, OCEAN,	
Letting Date: Febru	ary 09, 202	21		District(s):	C4				
Call Order: 484				Project(s):	STBGP-FLEX-D00S(367)				
Contract Time: 12/31	/21 COMPL	ETION DA	ATE	Min:	Max:				
Contract Description:	: Long-Life	e Pavemen	t Markings Contr	ract, Central - 2	019				
Line No / Item ID Item Description			(1) TRAFFIC	LINES, INC.	(2) DENVILLE L IN				
Alt Set / Alt Member	Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0003	NON	I-PARTICI	PATING	Cat Al	t Set:	Cat A	It Member:		
0030 152015P		1.000	15,000.00000	15,000.00	12,000.00000	12,000.00			
POLLUTION LIABILITY INSU	JRANCE	DOLL							
Section Totals:				\$15,000.00	I	\$12,000.00			
Co	ontract Tota	als		\$9,497,964.08		\$12,485,100.00			
Cost	Plus Time	Totals		\$9,497,964.08		\$12,485,100.00			
() indicates item is bid	as Lump S	um	I		1	I			

2/9/2021

	STATE OF NEW JERSEY DEPARTMENT OF TRANSPORTATION Phil Murphy, Governor Sheila Oliver, Lieutenant Governor
	DEPARTMENT OF IRANSPORTATION
S	Phil Murphy, Governor Sheila Oliver, Lieutenant Governor
9	Phil Murphy, Governor Sheila Oliver, Lieutenant Governor

	Vendor Ranking							
Call Order:	484	Contract ID:	19484	Counties:	HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN, SOMERSET, WARREN			
Letting Date:	February 09, 2021 10:00 AM	District(s): C4	L .					
		Contract Time:	12/31/21 COMPLETION DATE					
Contract Desc	ription: Long-Life Pavement Mar	kings Contract, Cent	ral - 2019	Project(s):	STBGP-FLEX- D00S(367)			
					Percent Of			

Rank	Vendo	or ID/Name	Total Bid	Percent Of Low Bid
1	T7152	TRAFFIC LINES, INC.	\$9,497,964.08	100.00%
2	D2597	DENVILLE LINE PAINTING, INC.	\$12,485,100.00	131.45%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.